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Lesson 1 — Congruent Triangles & CPCTC

» Review: Similar triangles are the SAME SHAPE but DIFFERENT SIZES. In order for two triangles to be
similar, the corresponding angles must be congruent and the corresponding sides must be proportional.

» Congruent Triangles: Triangles that are thq sT}e i ) M\QQE ; and the same (3\7 Q/
= Each triangle has three congruent 6 \ and three 9Q_gruent L— _5

= |f all SIX of the corresponding parts of two triangles are — , then the triangles are

—
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Corresponding Congruent Angles:

Corresponding Congruent Sides:
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» Definition of Congruent Triangles (CPCTC):

= Two triangles are congruent if and only if their corresponding parts are

» CPCTC — Corresponding Parts of Congruent Triangles are Congruent

1. Write a congruency statement for the two triangles at right.

ML~ HEDG

2. List ALL of the congruent parts if AEFG = A HGF.

3.\ AWXY = AZYX ISoIve forp and g.
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4. AADC = ACBA Solve for x. Then find the mzB & m4D.
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> Draw and label a diagram. Solve for the missing variable(s).

5 IFABAT = ADOG, and m<B = 14°, mzG = 29° and m<£0 = (10x + 7)°, find x and m<0.
B
\Y +0+10x47=180
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6. IfACOW = APIG, and CO = 25, CW =18, IG = 23 and PG =7x — 17, find x and PG.

7. If ADEF = APQR and DE =

}6— 10, QR = 4x — 23, PQ =2x+ 7and EF =y, find x and y.
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S If ADEF = AJKL and DE = x2 — 3x, KJ = 28, mzE = (8y — 6y)°and msK = 5° findxand y.
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> [APQR = AABC|
> Find the values of x and y
Given: Given:
" msR = (5x +70)° QR =4y +2 meR=(90-y)° PR=3x+y-1
" meC = (24x — 25)° BC=x+y ~me€ =13°— AC=32—x
Given: Given:
3 PQ =5x—-31 AB=x+1 meA = (15y —3)° PQ=11-x
"QR=-3y—1 BC=9-y msP = (43 = x)° AB=3y+1
Given: Given:
5 AB=2x+y PQ=7 6 meP = (x + 10)° msQ = (3x)°
"QR=4x+y BC=11 " med = (y+20)° meB = (x + 3y)°

Find the m£P and the mQ.




